MIAMI-DADE COUNTY, FLORIDA
MIA MIDADE ’
- : METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE
METRO-DADE FLAGLER BUILDING

140 WEST FLAGLER STREET, SUITE 1603
MIAMI, FLORIDA 33130-1563

PRODUCT CONTROL NOTICE OF ACCEPTANCE (305) 375-2901 FAX (305) 375-2908
Gulfstream Aluminum and Shutter Corporation CONTRACTOR LICENSING SECTION
3001 SE Gran Park Way (305) 375-2527 FAX (305) 375-2558
Stuart ,FL. 34997 CONTRACTOR ENFORCEMENT DIVISION

(305) 375-2966 FAX (305) 3752908
PRODUCT CONTROL DIVISION
(305) 375-2902 FAX (305) 372-6339
Your application for Notice of Acceptance (NOA) of:
Impact Aluminum Bahama Shutter
under Chapter 8 of the Code of Miami-Dade County governing the use of Alternate Materials and Types of
Construction, and completely described herein, has been recommended for acceptance by the Miami-Dade
County Building Code Compliance Office (BCCO) under the conditions specified herein.

This NOA shall not be valid after the expiration date stated below. BCCO reserves the right to secure this
product or material at any time from a jobsite or manufacturer's plant for quality control testing. If this
product or material fails to perform in the approved manner, BCCO may revoke, modify, or suspend the
use of such product or material immediately. BCCO reserves the right to revoke this approval, if it is
determined by BCCO that this product or material fails to meet the requirements of the South Florida
Building Code.

The expense of such testing will be incurred by the manufacturer. ﬂ/ %

ACCEPTANCE NO.: 00-0411.11
EXPIRES: 03/08/2004 Raul Rodriguez
Chief Product Control Division

THIS IS THE COVERSHEET, SEE ADDITIONAL PAGES FOR SPECIFIC AND GENERAL
CONDITIONS
BUILDING CODE & PRODUCT REVIEW COMMITTEE

This application for Product Approval has been reviewed by the BCCO and approved by the Building
Code and Product Review Committee to be used in Miami-Dade County, Florida under the conditions set

forth above. /
Francisco J. Quintana, R.A.
Director
- Miami-Dade County
APPROVED:_03/08/2001 Building Code Compliance Office

\504500011pc2000\\templates\notice acceptance cover page.dot

Internet mail address: postmaster@buildingcodeonline.com @ Homepage: http://www.buildingcodeonline.com



Gulfstream Aluminum and Shutter Corp. ACCEPTANCE No. : 00-0411.11

APPROVED : 03/08/2001

EXPIRES : 03/08/2004

NOTICE OF ACCEPTANCE: SPECIFIC CONDITIONS

1. SCOPE
This approves an Extruded Aluminum Bahama Shutter, as described in Section 2 of this Notice of
Acceptance, designed to comply with the South Florida Building Code, 1994 Edition for Miami-
Dade County, for the locations where the pressure requirements, as determined by SFBC Chapter
23, do not exceed the Design Pressure Rating values indicated in the approved drawings.

2. PRODUCT DESCRIPTION

This Extruded Aluminum Bahama Shutter and its components shall be constructed in strict
compliance with the following documents: Drawing No. 1001, titled “ Impact Bahama Shutter ”,
prepared by W. W. Schaefer Engineering & Consulting, P.A., signed and sealed by Warren W.
Schaefer, P.E., dated November 17, 2000, sheets 1 through 10 of 10, bearing the Miami-Dade
County Product Control Approval stamp with the Notice of Acceptance number and approval date
by the Miami-Dade County Product Control Division. These documents shall hereinafter be
referred to as the approved drawings.

3. LIMITATIONS
All permanent set components, included but not limited to embedded anchor bolts, threaded cones,
metal shields, must be protected against corrosion, contamination and damage at all times.

4. INSTALLATION
This Extruded Aluminum Bahama Shutter and its components shall be installed in strict compliance
with the approved drawings.

5. LABELING
Each panel shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved".

6. BUILDING PERMIT REQUIREMENTS
6.1 Application for building permit shall be accompanied by copies of the following:

6.1.1 This Notice of Acceptance.

6.1.2 Duplicate copies of the approved drawings, as identified in Section 2 of this Notice of
Acceptance, clearly marked to show the components selected for the proposed
installation.

6.1.3 Any other documents required by the Building Official or the South Florida Building
Code (SFBC) in order to properly evaluate the installation of this system.

el f it

Helmy % Makar, P.E.- Product Control Examiner
Product Control Division
D




Gulfstream Aluminum and Shutter Corp. ' ACCEPTANCE No. : 00-0411.11

APPROVED : 03/08/2001

EXPIRES : 03/08/2004

NOTICE OF ACCEPTANCE: STANDARD CONDITIONS

1 Renewal of this Acceptance (approval) shall be considered after a renewal application has been filed and the
original submitted documents, including test-supporting data, engineering documents, are no older than eight
(8) years.

2. Any and all approved products shall be permanently labeled with the manufacturer's name, city, state, and the
following statement: "Miami-Dade County Product Control Approved”, or as specifically stated in the
specific conditions of this Acceptance.

3.  Renewals of Acceptance will not be considered if:

a.  There has been a change in the South Florida Building Code affecting the evaluation of this product
and the product is not in compliance with the code changes.

b.  The product is no longer the same product (identical) as the one originally approved.

c.  If the Acceptance holder has not complied with all the requirements of this acceptance, including the
correct installation of the product.

d. The engineer, who originally prepared, signed and sealed the required documentation initially
submitted, is no longer practicing the engineering profession.

4.  Any revision or change in the materials, use, and/or manufacture of the product or process shall automatically
be cause for termination of this Acceptance, unless prior written approval has been requested (through the
filing of a revision application with appropriate fee) and granted by this office.

5.  Any of the following shall also be grounds for removal of this Acceptance:
a.  Unsatisfactory performance of this product or process.
b.  Misuse of this Acceptance as an endorsement of any product, for sales, advertising or any other

purposes.

6.  The Notice of Acceptance number preceded by the words Miami-Dade County, Florida, and followed by the
expiration date may be displayed in advertising literature. If any portion of the Notice of Acceptance is
displayed, then it shall be done in its entirety.

7. A copy of this Acceptance as well as approved drawings and other documents, where it applies, shall be
provided to the user by the manufacturer or its distributors and shall be available for inspection at the job site

at all time. The engineer needs not reseal the copies.

8.  Failure to comply with any section of this Acceptance shall be cause for termination and removal of
Acceptance.

9.  This Notice of Acceptance consists of pages 1, 2 and this last page 3.

END OF THIS ACCEPTANCE

Helmm P.E.- Product Control Examiner

Product Control Division
-3-




—_

112" MAX.

«— 28" MAX. —~f=—— 28" MAX. ——fo— 28" MAX, ——}—— 28" ax.

L~

-

™

,@_\\ ‘ — ‘ '

SEE SECTION “A”

FOR FASTENING TO

WALL

STORM BAR:
@ = TS2X2X1/8

= TS2X3X1/8

B = TS2X5X1/8

—

> i I i

SHEET SEAMS T0— = <
BE VERTICAL WITH \ = S
2" OVERLAP AT | ; \
MULLIONS. SHEET SMLR | \ | Z— |
MAY SPAN ACROSS /o I i . e
MORE THAN ONE "_ 'i ! | -
MULLION WITHOUT ! ' /:'T::
A SEAM. n ___. 2, — — L — — — — 1 T

96" MAX. Ex . =+

1
SHUTTER ARMS; —/

SEE ARM SPACING
TABLE ON THIS
SHEET.

G

i
|
i
[
f
|
|
|
1
]

|
i
|
]
|
f
|
i
f
1
i
[
i
H
TWALL
|

2

SEE SECTION "A"
FOR FASTENING T

O-——-—.—————-_—-—

N

ée 7|

i
1
|
N AP Rpp——— Ll — —

/

i i
SEE SHEETS 9 & 10 FOR \—% A
SPACING REQUIREMENTS 2—

EXTERIOR ELFVATION

QUAD PANEL SHUTTER

SCALE: 1/2"=1"-0"

OF STORM BARS FOR
SINGLE & MULTIPLE
BAR SHUTTERS.

ENERAL NOTES:

ALL ALUMINUM EXTRUSIONS SHALL BE 6063-T5 ALLOY UNLESS SHOWN OTHERWISE ON THESE DRAWINGS.
IT SHALL BE THE RESPONSIBILITY OF THE PERMIT HOLDER TO VERIFY THE STRUCTURAL INTEGRTY OF
THE EXISTING STRUCTURE TO SUPPORT THE LOADS SUPERIMPOSED BY THE SHUTTERS.
THESE SHUTTER SYSTEMS ARE DESIGNED TO WITHSTAND WIND PRESSURES, IN THE OPEN POSITION,
RESULTING FROM WIND SPEEDS UP TO 75 MPH IN ACCORDANCE WITH THE SOUTH FLORIDA
BUILDING CODE 1994 EDITION,
THESE SHUTTER SYSTEMS HAVE BEEN DESIGNED & TESTED IN ACCORDANCE WITH THE SOUTH FLORIDA
BUILDING CODE 1994 EDITION AND MIAMI-DADE COUNTY PROTOCALS PA-201, 202 & 203.
EACH SHUTTER SHALL HAVE A LEGABLE & READILY VISIBLE MARKING INSTRUCTING THE OWNER/TENNANT
TO SECURE THE SHUTTER WITH BRACKETS & STORM BARS, PER THESE APPROVED DRAWINGS
DURING PERIODS OF HURRICANE WARNINGS.
EACH SHUTTER ASSEMBLY SHALL BE PERMANENTLY LABELED AS FOLLOWS:

GULFSTREAM ALUMINUM & SHUTTER CORP.

STUART, FLORIDA

MIAMI-DADE COUNTY PRODUCT CONTROL APPROVED
ALL CONCRETE SUBSTRATE SHALL BE MIN. 3000 PSI.
ALL WOOD SUBSTRATE SHALL BE MIN. G = 0.55 DENSITY.

P

\

(D)
/

B
\{—%/

-
T \_SEE "STORM BAR

END CONNECTION
DETAILS” ON
SHEET 7

SEE NOTE FOR ALLOWABLE SHUTTER WIDTHS

56" MAX.

28" MAX. —|=—— 28" MAX. —]

‘I

MULLIONS. SHEET
MAY SPAN ACROSS
MORE THAN ONE
MULLION WITHOUT

SHEET SEAMS T0—
BE VERTICAL WITH
2" OVERLAP AT

26

/

|

A SEAM. 96"

™

SEE "FRAME CORNER—
DETAIL® ON SHEET 6

1f'!\

_am——

o=

12

MAX. ALLOWABLE DESIGN WIND LOADS

POSITIVE

&
SEE "OPTIONAL BASE CLIP™—_"
DETAIL" ON SHEET 7

(19
EXTERIOR ELEVATION

DOUBLE PANEL SHUTTER

NEGATIVE

80 PSF

80 PSF

SPACING.

SEE SHUTTER & STORM BAR TABLES ON SHEETS
9 & 10 FOR REDUCED LOADS AS CONTROLLED BY
SHUTTER SPAN, STORM BAR SPAN & STORM BAR

SCALE: 1/2"=1"-0"

NOTE: THE NUMBER OF PANELS IS GOVERNED BY:
1. IF STORM BARS ARE REQUIRED, ANY NUMBER OF PANELS
MAY BE USED PROVIDING THE OVERALL SHUTTER WIDTH DOES
NOT EXCEED 112" & THE PANEL WIDTHS DO NOT EXCEED 28",

2, IF NO STORM BARS ARE REQUIRED, ANY NUMBER OF PANELS
MAY BE USED & THE SHUTTER OVERALL WIDTH MAY BE INFINATE
PROVIDING THE PANEL WIDTHS DO NOT EXCEED 28"

STORM BAR NOTE: THE NUMBER OF STORM BARS REQUIRED
WITH EACH SHUTTER TYPICALLY VARIES FROM 1 T0O 3 & IS
DEPENDENT ON SHUTTER SIZE & REQUIRED DESIGN PRESSURE.
SEE ELEVATION SKETCHES & LOAD TABLES ON SHEETS 9 & 10
FOR STORM BAR REQUIREMENTS,

NO

|

!

E DETAILS” ON

i- Jwﬂ 7

; N SHUTTER ARMS;
|

" SEE SECTION "A"

FOR FASTENING TO
WALL

STORM BAR:
@ = TS2X2X1/8

= TS2X3X1/8
T\ = TS2X5X1/8

/
SEE "STORM BAR

END CONNECTION

ARM SPACING TABLE

SHUTTER HEIGHT

MAXIMUM _SPACING

48" OR LESS 56"
49" < h < 60" 45"
61" < h < 72” 38"
73" < h < 84" 32"
85" < h < 96” 28"

VALUES IN THIS TABLE ARE BASED ON PRESSURES
RESULTING FROM WIND SPEEDS UP TO 75 MPH

NOTE: ALL 2 PANEL SHUTTERS REQUIRE JUST

1 ARM AT EACH SIDE!

APPROVED AS COMPLYING WITH THE

PRODUCT

ACCEPTANCE No, Q0 -0 4 |

ZROL DIVISION
BUILDING CODE COMPLIANGCE OFF}GE ,

DRAWN BY:
W.W.S.

PLOT:
1=24

CHECKED BY:

W.W.S,

DATE:
11/17/00

—

DATE.

BY

SEE ARM SPACING
TABLE ON THIS SHEET

REVISION DESCRIPTION

NO.

(DADE)

N ————

MANUFACTURER

IMPACT BAHAMA SHUTTERS
W. W. SCHAEFER ENGINEERING|GULFSTR

CONSULTANTS

EAM ALUMINUM & SHUTTER CORP.

3001 S.E. GRAN PARK WAY

& CONSULTING, P.A.

600 SANDTREE DRIVE; SUITE 2038

STUART, FLORIDA 34997

PALM BEACH GARDENS, FL 33403
PHONE: 561-775-4802 FAX: 561-775~4903

(561)287~6476

CERTIFICATION

=)
=1
o~
=
o
=
o
=

WING NO. [R

1001

SHEET NO.

1

OF

10

WARREN

P4

. SCHAEFER, P.E,
NO. 44135

P.E.

_|



..

. * - d
\ T . o
. -
. TET

EDGE OF BLOCK,
OR CONCRETE
(NOT FINISHES)

=

Y N

NS

TO EA. INTER-
MEDIATE MULLION

200,

- /4" X MIN. 2 1/4” TAPCON
1" FROM ENDS & 12" MAX. 0.C.

1/4” TAPCON ——————————~["
/ -y

WHEN INTO BLOCK/CONCR,;
NO. 12 S.S. SMS

WHEN INTO WOOD;

1" FROM ENDS & MAX.

L]

12" 0.C.

—

AN REQ'D MINIMUM EMBEDMENTS & EDGE
\ DISTANCE FOR OPENING FASTENERS
FASTENER EMBEDMENT EDGE DISTANCE
D / 1/4” TAPCON 1 3/4" INTO BLOCK/CONCR. | SEE DETALS
1 1/2" INTO WOOD FRAMING 3/4
S 1/4-20 PANEL-MATE |1 5/B" INTO BLOCK/CONCR. | SEE DETALS
1 5/8" INTO WOOD FRAMING 3/4"
NO. 12 SMS 1 1/2” INTO WOOD FRAMING 3/47
1/4" [AG BOLT 1 1/2" INTO WOOD FRAMING 3/8
1/4-20 RAWL CAULK-IN [1 1/2" INTO BLOCK/CONCR. | SEE DETAILS

SEE "STORM BAR TO
MULLION CONNECTION
DETAIL” ON SHT. 7

EDGE OF BLOCK,

OR CONCRETE
(NOT FINISHES)

| @@n |
\

S
MAX. MIN.
SEE "OPTIONAL BASE CLIP

DETAIL 1" ON SHEET 7
FOR USE OF CLIPS

> 2" LEG
SECTION /AN

MAX. 0.C.

NO. 22 IN LIEU OF
CONTINUOUS ANGLE
NO. 11.

SCALE: 1/2 FULL

\2/
(FACE MOUNT ONTO BLOCK/CONCRETE)

D
@)

1/4-20 PANEL-MATE WHEN INTO

WOOD, BLOCK OR CONCRETE OR
1/4-20 RAWL CAULK-IN WHEN
INTO BLOCK OR CONCRETE; L
1" FROM ENDS & MAX. 12" 0.C.

EDGE OF BLOCK,
CONCR. OR
WOOD FRAMING
(NOT FINISHES)

1/4-20 PANEL-MATE OR
1/4-20 RAWL CAULK-IN
1" FROM ENDS & 12"

2" MIN. @ BLOCK/CONCR i
3/4" MIN @ WOOD FRAME MEMBER ? [ E S
| Ok ; :
» N7 f
L 1/ 7] d oA z
NN N RN \ 15 ‘ NO. 12 S.S. SMS %
/_@ , ‘\i A // S/STL SMS 2
LN [N 5 e 1" FROM ENDS z
— | 25 , / ' ’ & 16" ax oc. 8
15 3 \_@ [
- © | NOTE: FASTENERS SHAB E
(26) | 26) BE PLACED IN EITHER Y
@\ HEAD FRAME STUD OR 15
) » (4X5) waLL sTus. als
1 [ < <
1 3|z
‘ BOO % £50
//bes
N x
2 vES8
; /@@ ' /_@ NOTE: FASTENERS MAY .3 35
, - , BE PLACED IN SILL gE "
| , /@ FRAMING OR WALL STUDS | g |21
— / 1 4 nlz 8
2" LEG 1" MIN. <| & and
L / 3| E<8Eh
| o / 1 2| g%z
C | CAN TURN ANGLE ===k 7 N | - ng;;
\ BOTTOM LEG 1 / / Q| E5z8,
OPPOSITE DIRECTION. A==t _f g %—3 439
o -\ 3, . 1/2” MIN ' . 3/4 Ly ﬂoé ;;,g:,;’
S TN = : : A T
KO B i az"
1 /4-—R%o PEANDEL-MATE 8= &
L _— , 1" FROM ENDS & 16"
7 —=]  |=—3/4" Max, St OPTIONAL BASE SECTION /AN wax. oc. (un. woop ) i
CLIP DETAIL 1" ON SHEET EDGE DISTANCE = 3/47) = o
; 7 FOR USE OF CLIPS SCALE: 1/2 FULL\ 2/ S o
2 WIN. © BLOCK/CONGR. No. 22 IN LIEV OF  (FACE MOUNT ONTO WOOD FRAME) g ~ be
3/4" @ WOOD CONTINUOUS ANGLE 4o EM
NO. 11. APPROVED AS COMPLYING WITH THE el e ?g
SECTION A SOUTH FLORIDA BUILDING CODE £ = \ L
SCALE: 1 0%/ S zo
:1/2 N2/ DAT 0% /200 = g
(RECESS MOUNT ONTO BLOCK, CONCRETE OR WOOD FRAME) gmuc.r T oo *
BUILDING CODE COMPLIANCE OFFICE e |
RGUEPTANCE NO.QQ‘.'_Q_LLU.-J\ ZSHEET NO, 10
OF



DRAWN BY: CHECKED 8Y:

. ’ WW.S. WW.S,
h 1(4" TAP%O% . ' " ? \ r EQUAI_ m_or:'_2 DA'TIE/ 17/00
\ Y. 1" FROM ENDS " MAX. 0.C. . N
9 ] Y w
J % __T J r;:%ﬁm% * ‘ 3
/2" ) 2" MIN. | 1/ § "\/ coun -
15 l 15 NO. 12 SS. SMS OR 1/4” SS. g
p , S— LAG BOLT 1" FROM ENDS & 8
@‘/Q} OR CONCRE 25 ' “ S R 16" MAX. OC. 2
© (NOT FINIHES) / o/ pop avers, NOTE: FASTENERS MAY :
3 " © (1) RN BE PLACED IN EITHER ‘
‘ 316 chOF RVETS: AT MIDDLE OF PN~ HEAD FRAMING STUD OR B
- TO HOLD TUBE TO WALL STUDS a
AT MIDDLE OF SPAN . \.
@\ T0 HOLD TUBETO @’\ D HINGE. | | &
HINGE. ' o z
NO. 8 S/STL SMS g K
1 AT EA. END & @@ gl Ex.
, ?cT) w([)JLDDLET L?BFE STPOAN ”\: NO. 8 S/STL SMS AT EA. END & i§ ©
' & AT MIDDLE OF SPAN TO HOLD ~
(4)Y5) FRAME (SAME AT SIDES) Q@ ' /G TOBE TO FRAME (TYP. AT SIDES) 37
) = <
MIN. 1X2X0.062 ALUM. TUBE MIN. 1X2X0.062 ALUM. TUBE 322,
, OR MAX. 2X2X0.062 ALUM TUBE @ OR MAX. 2X2X0.062 ALUM TUBE Z350
| AROUND OPENING AS REQ'D ; Agogg%lgpgggg A REQD Togc
TO OBTAN REQ'D GLASS S A— T =T
DISTANCE (2" AGAINST WALL) . / L e i U\ T DISTANCE (2" AGAINST WALL) ; Lmq'et‘: 2
IV e
: ":._ . ".'.:.- M .. , e:-lﬁ —2
DON =Lk | BTN = A " T
N ! . ! / ;:":"/ £ES
! 2" MIN, ¢ ol oA | EE3
\ l = IV / 2o
A (72 = S
. - m T
S| . =ge
3’/4"_f \— EDGE OF BLOCK, 3/4 | 1/2" L / 3/4 J % %Z’ 51
MAX. OR CONCRETE MAX. T L 1/4-20 PANEL-MATE 8| 2557
(NOT FINISHES) ‘ MIN. @-/ L / 1 FROM ENDS & 16" 5 :'2:_’ gy
1/2" —~ 1/4-20 PANEL-MATE OR L MAX. 0. < | WIEgs
i 430 AL NOTE: FASTENERS MAY BE 5| 2358
SECTION /& 1° ROU ENDS & 1 SECTION /A PLACED IN SILL FRAMING OR L 58858
SCALE: 1/2 FULL\_3 T SCALE: 1/2 FUL\ 3 / WALL STUDS. o ?.utaa ;;%
(BUILD-OUT MOUNT ONTO BLOCK,/CONCRETE) (BUILD-OUT MOUNT ONTO WOOD FRAME) £ 375
S £
= s
=] v
FOR FASTENER EDGE DISTANCE & SPACING Jomo 15 comn e e Bl 5
REQUIREMENTS, SEE SHEET 2. SOUTH FLORIDA BUILDING CODE 2lev 3g
mreQ3 408/ 2001 = =,
BY : o= 5"
PRODUCT CONTROL DIVISION S;E
BUILDING CODE COMPLIANGE OFFICE
accEpTANCE No, OO = O - 1) wa6“01”°' REV.
SHEET NO.

3 o 10



NOTE:
THE ARMS MAY BE MOUNTED ON
THE WALL ABOVE THE SILL LEVEL
PROVIDING THE ARMS ANGLE TO
THE HORIZONTAL DOES NOT
EXCEED 30 DEGREES.

T

TWO 1/4-20 BOLTS
INTO 1/4-20 ALUM.
RIVNUTS OR BRASS
MOLLY JACK-NUTS

BRACKET NOTES

1. MAY OPTION TO FASTEN BRACKET TO ANGLE
WITH ONE 1/4"-20 S.S. THRU-BOLT IN LIEU

OF TO THE SHUTTER FRAME.

2. BRACKET MAY BE PLACED ON VERTICAL FRAME
OR MULLION MEMBERS WITHIN 6" OF THE SHUTTER

(o) BASE EDCE. )
MIZN ALTERNATE
a0 55 | LOCATION
THRU-BOLT & NUT OR PN
1/4" DIA. ALUM. 7 AN
LOCK PIN
;\\ . .:. ,: S e . -j | r.._“"‘ TR
] , ]
@) L] 2" MIN.
(J > I / l
ANGLE MAY BE REMOVED . (o3 ———
WHEN SHUTTER IS IN (20) AnE
OPEN POSITION e
J“/T‘I: 20 Mg SCREW ONE 3/8" RED HEAD
SLEEVE ANCHOR WITH
| > 1 1/2° MIN EMBED
SECTION /8 INTO BLOCK /CONCR,

SCALE: 1/2 FULL\_4
(OPEN SHUTTER AT FACE MOUNT CONDITION TO BLOCK/CONCRETE)
SEE "ARM SPACING TABLE” ON SHEET 1 FOR SPACING OF ARMS

1/4-20 X 2" SS.
BOLT THROUGH BAR
& INTO 1/4-20
RIVNUT OR MOLLY
JACK-NUT

1/4"-20 SS.
THRU-BOLT OR
1/4" DIA. ALUM.
LOCK PIN

ANGLE MAY BE REMOVED
WHEN SHUTTER IS IN
OPEN POSITION

1/4"-20 THUMB SCREW
WITH SLEEVE

ALTERNATE TO SECTION B

=> _l

e —— ]

L ONE 3/8" RED HEAD

Fo SLEEVE ANCHOR WITH
1.1/2" MIN EMBED

ON_ THIS SHEET

INTO BLOCK/CONCR.

1/4-20 X 2" SSS.

(END ARMS ONLY)

BOLT THROUGH BAR [ 2" ———1 ﬁg&%ﬁ
& INTO 1/4-20 MIN.
RIVNUT OR MOLLY
JACK—NUT
1/4"-20 S, g
THRU-BOLT OR P
1/4" DIA. ALUM. ) D 3
LOCK PIN ! . t
2" MIN,
! 1T l
I
F/ONE 3/8" RED HEAD
. SLEEVE ANCHOR WITH
1/4"-20 THUMB SCREW . 3

INTO BLOCK/CONCR.

ALTERNATE TO SECTION B ON THIS SHEET

FOR FASTENER EDGE DISTANCE & SPACING
REQUIREMENTS, SEE SHEET 2,

APPROVED AS COMPLYING WITH THE
SOUTH FLORIDA BUILDING GODE

oy He Ao A 4.

PRODUCT COTROL DIVISION
BUILDING CODE COMPLIANCE OFFICE

accertance no, OO = OA 11 - 1

\

e, ALTERNATE
MIN /‘@ LOCATION
//O ~
Ve N
S N,
o N Y
I . t
L 2" MIN,

CHECKED BY:
W.W.S,

—

DATE:
122 11/17/00

[}

S

z

<}

T

vy

Q

&

(=]

=

]

[72]

o

o

z

IE
o
o
(@]

(&)

-~

§ o
7]

ol Ex
I~o
U)XOULO
i
& <M
sTg 1
Sz="r
Z<x 3
S53~
e g PR
2.5 .8
S ok =
=2 <

L e =3
g o
:EOU)

| EES

0 3%

e s s

w23
<<

E =0

I o pa)

n = 8

< El' oMb

= m{ngr\
25857

3| 23880

= Q7 E 8
Goat

= £ gy

Q XiE==24

< W52«

al L>5°%3

b D o3

= EZEIJ:

" SRS

= 2RO EsT
= . y938

< 5'; ‘ODEQ

z 1z .. 3
Sz T
= ui

a

3 &8

= 3%

o g

b =) nz

El o ¥y

S zo

&
g
1wcho. REV.

SHEET NO.

4 o 10



DRAWN BY: CHECKED BY:

___ / \ ’ PLO‘:M.S. DATEV:.W.S.
/ 1m2 11/17/00
NOTE: oo ¥
THE ARMS MAY BE MOUNTED ON N 1/4° 3. UG BoLT 3/4" PaOl s
THE WALL ABOVE THE SILL LEVEL 1 oo o PANELMATE IOy, Y |
* |PROVIDING THE ARMS ANGLE TO : RN ,
THE HORIZONTAL DOES NOT 1/ AR SS - ) :
EXCEED 30 DEGREES. . 1/4" DIA. ALUM. IR K gm]ﬂ_ g &
: 1/4-20 X 2" SS. : ; g
B(/)LT THROUGH BAR 3/4
& INTO 1/4-20 MIN. Bl
RVNUT OR MOLLY g -
JACK~NUT ,; , \ ?/ &
ANGLE MAY BE REMOVED SINGENN —~ 3
WHEN SHUTTER IS IN S / ! Léi E
OPEN POSITION T %
1/4"~20 THUMB SCREW - 2 NO. 12 S.S. SMS el 55
WITH SLEEVE / & x% o
: & <«
S0 DEG. MAX. __ ALTERNATE TO SECTION B ON THIS SHEET (END ARMS ONLY) 3 ;éf
SEE "ARM SPACING TABLE” ON SHEET 1 FOR SPACING OF ARMS § %gﬁ%
— 3 H ©
NTO /420 A BRACKET NOTES e
RVNUTS OR BRASS 1. MAY OPTION TO FASTEN BRACKET TO ANGLE s %
MOLLY JACK-NUTS WITH ONE 1/4"-20 S/STL THRU-BOLT IN LIEU 58 oF
OF TO THE SHUTTER FRAME. PE S
2. BRACKET MAY BE PLACED ON VERTICAL FRAME , 0 |2
OR MULLION MEMBERS WITHIN 6" OF THE SHUTTER B e Wi 3/4" ] /@ e i o
@ BASE EDGE. WOOD FRAMING STUDS MIN. E ’3
" ALTERNATE ] - S e 2
. 3/4" — /‘@ LOCATION 1/4°-20 SS. - ¢ N ' <| & and
1/4"-20 S.S. MIN Py, THRU-BOLT OR v L o S| e B3e
THRU-BOLT & NUT OR : PO NN 1/4” DIA. ALUM. T -l.'. AR E ZE 3T
1/4" DIA. ALUM. N LOCK PIN e &.‘ g % _E.8
b4 o~ LOCK PIN 4 h / Sgacy
\ @ R B 6| «&g°
N C SR R N ) a1 g B3t
i : MIN. = | 25538
/ ; =~ ® d ¢3S 32
@ i ZI:A/Hj 1/4-20 X 2" SS. 5% ’ é N EF §§§
- - BOLT THROUGH BAR = |27, z
0> VB / g & INTO 1/4-20 2 ™ 1 8% &
. | RVNUT OR MOLLY / 2 NO. 12 S.S. SMS = .
ANGLE MAY BE REMOVED (©— 2Bty JACK-NUT 1/4’-20 THUMB SCREW C T = o
WHEN SHUTTER IS IN @ 21 / r WITH SLEEVE / o o
OPEN POSITION . Zlo g8
. It o 2 NO. 12 S.S. SMS E 3
N ALTERNATE TO SECTION B ON THIS SHE 5~ \g
- 1/4" SS. LAG BOLT SEE "ARM SPACING TABLE” ON SHEET 1 FOR SPACING ABROARMS COMPLYING WITH T = =
OR 1/4" PANELMATE SOUTH FLORIDA BUILDING CODE o z=
SECTION @ INTO @ooo FRAMING STUDS 103/ OF / vt :
SCALE: 1/2 FUL\D | FOR FASTENER EDGE DISTANCE & SPACING BY
(OPEN SHUTTER AT FACE MOUNT CONDITION TO WOOD FRAMING) REQUIREMENTS, SEE SHEET 3. i ot mon T
SEE "ARM SPACING TABLE" ON SHEET 1 FOR SPACING OF ARMS BUILDING CODE COMPLIANGE OFFICE SHEET NO.

aceepTance No. OO - O 111} 5 o 10



BLOCK EDGE

E
2
©

NN

722227

-

14

~— 1" MIN.

1" MIN, =
~ SHUTTER WIDTH
CK_OPENING SECTION FLUSH MOUNT
SCALE: 1/3 FULL\ 6 /
STORM BAR & ARMS NOT SHOWN FOR CLARITY!
3 & 4 PANEL SHUTTERS SIMILAR
NO. 8 S.S. SMS
BLOCK EDGE 1 AT EA.SENDM&

FATRN

AT MIDDLE OF SPAN
TO HOLD TUBE TO
FRAME (TYP.)

MIN. 1X2X0.062 ALUM. TUBE
OR MAX. 2X2X0.062 ALUM TUBE
AROUND OPENING AS REQ'D

TO OBTAIN REQ'D GLASS

DISTANCE (TYP.)

@

WOOD FRAMED OPENING

<

vy

A 171

/@ { /
-4 2. \/ 2z 4

1" MIN. —~

T

BLOCK OPENING

~— 1" MIN.

SHUTTER WIDTH
SECTION /2 gyp-out

SCALE: 1/3 FULL\ 6/
STORM BAR & ARMS NOT SHOWN FOR CLARITY!
3 & 4 PANEL SHUTTERS SIMILAR

WOOD FRAMED OPENING

of].
O3

OaN

0 ®
O

D)

YANNRAA

=

FRAME CORNER DETAIL

SCALE: 1/2 FULL

MULLION END CONNECTION DETAIL

SCALE: 1/2 FULL

APPROVED AS COMPLYING WITH THE
SOUTH FLORIDA BUILDING CODE
uEODL 0%/ 2001

BY f :
PRODUCT CONTROL DIVISION

BUILDING CODE COMPLIANCE OFFIGE
aceeprance No.OO- 1) - 1)

CHECKED BY:

DRAWN BY:
W.W.S. WW.S.
PLOT: DATE:
122 11/17/00
w
3
-
. [21]
z
&
i
o
(%3
&
(=3
Z
Q
w0
P
o'y
g
o
[1'4
Q
~~ o
lé’ o
w
sl Ex
2 =N
T o
N Qo
NN
S <M
[aN (o]
<
=2 _0
DZFg
= <X
S proN
=207
=
=
U_)n:v
= <
g ey
¥ own
o
= M)
o fEE"
o gy
w23
E 0
[©]
n|z B8
74 I
<C [} [a2)
= | WeBdk
§ Z ram
g% p"e
&) 2.52°
mgm %
3]
o| x58s"
o
o E:jga
- g(nu Y
b ZEIm
Q38R
e [2@0 35T
2 4o3%
Z F:‘;’;‘;e’‘C"’r‘_f'u.s
= ] ¢
B Z . &
Sz F
uj
o
z| e ©0
28 Yy
g~ £~
S (15}
Ll & =z
E o~ SN
Ol == z*
= ®
E
DRAWING NO. 1R
SHEET NO.
6 o 10



EDGE OF BLOCK/CONCR.
OR WOOD FRAMING
(NOT FINISHESH)

STORM BAR

3" MIN. AT BLOCK/CONCR.
3/4 MIN AT WOOD

SHUTTER

3/8" DIA. HOLES

SHUTTER
r/r/>» WALL FINISH/SHEATHING
> \/ ; 3/ 4

3 1/2

12A 1128
13A)13B

{

.§<w
N
PLACE EMBEDS FLUSH

EDGE OF BLOCK
OR WOOD FRAMING
(NOT FINISHESH)

STORM BAR

3" MIN. AT BLOCK/CONCR.
3/4" MIN_AT WOOD

(Do)
I-— 3/4" MAX.
v

(24)

=
/
It

—5

I
Ry
SHUTTER —><‘\‘Jz¢
3/8" DIA. HOLES

5/16" DIA. SLOTTED
HOLE FOR THROUGH
BOLTS

4

CHECKED BY:
WW.S,

DATE:
11/17/00

BY

208

REVISION DESCRIPTION

7 ~—1/($; PASHN 35 WITH STRU(CTURAL ) —1" ()
S : SURFACE (NOT FINISH .
R s Ay m | = 7 STORM BAR TO MULLION &
» ” ) Q
STORM BAR END CONNECTION "A STORM BAR END CONNECTION "B” CONNECTION DETAIL gl e
SCALE: 2"=1"-0" SCALE: 2"=1'-0" SCALE: 1/2 FULL s E S
n Em ©
gLy
=z !
Do
Z 07 N
% “jr—"g
EDGE OF BLOCK 3" MIN. AT BLOCK/CONCR. 2 vz B
OR WOOD FRAMING / <o
SHUTTER (NOT FINISHES!!) 3/4 MIN AT WOOD z% ég
ri,, A7 s s WALL FINISH/SHEATHING STORM BAR 0 E E =
3/4” MIN AT WOOD | E 5;'
DL : [2
. ) 0 Q "
3/4" &b — 4 3
— — T 2| B s
SHUTTER | z | 23830
} PLACE EMBEDS FLUSH ] ‘ @1 o™ kg
WITH STRUCTURAL 5/16” DIA. SLOTTED P 5| Ggats
TWO 1/4-20 PANEL-MATES SURFACE (NOT FINISH)  OR 3/8" DIA. ROUND 3/ & | xEzz"
OR RAWL CAULK-INS PER HOLES 3 | u35ey
CLIP IF INTO BLOCK/CONCR; @ = OPTION T0 DRILL HOLE AS 2 1/2” MIN. AT BLOCK/CONCR.———/ £28:7
TWO 1/4-20 PANEL-MATES OPTIONAL BASE NOTE: cups MAY ONLY BE USED REQ'D AT OUTER FACE OF 1 1/2" MIN AT WOOD g esk
(55 SHEEY 3 FOR QoD WITH WOOD FRAMING IF ATTACHED SR & PUCE B0LT AT o EOEBS 3
REQUIREMENTS) CLIP DETAIL 1 T0 A CONTINUOUS SILL MEMBER P B ST STORM BAR SEAr\E,P 2"C1O§NECT|ON C = ég:ﬁggé’.
IPLACE 1 CLIP AT EACH CORNER & MULLION LOCATION| e : 3= &
- -
APPROVED AS COMPLYING WITH THE o o
SOUTH FLORIDA BUILDING CODE S 85
DAT € ‘ = ey
PRODUCT CBNTROL DIVSION = g
BUILDING CODE COMPLIANCE OFFICF = =
ACGEFTANCE NO. QO = : DRAWING N0~ TREV:
1001
SHEET NO,

/o 10




— . - ]

ORAWN BY: CHECKED BY:
-] 0.25 | T . W.S. W5,
LLZSO ,——1'250-' 0 0.052 2.000 I"—ZOOO—-| } 3.000 —] PLO:WS DAT;vws
P_f l—*—1,625——l L[0.375 0.093 T 12 11/17/00
T T N [~ 1128 (I — 2000 LENGTH = AS REQD T 2
oy 2.000
2062 1[0.062 = 2234 RAME CAP 0,040 t LENGTH = 1 — [=0.125 2.000
', 0187 6063-T6 ALUMINUM @ HOLLOW BLADE —{le—0.125
L i ' 2.183 6063-T6 ALUMINUM [=—2.000 —+ ,
1,625 —] | (6) FRAME_CORNER KEY <O = AS REGD STORM_BAR "B"
@-FEAM'—E @.M_JNULU 6063-T5 ALUMINUM @ SI0RM_BAR A 6061-T6 OR 6005-T5 3
6063-T6 ALUMINUM 6061-T6 ALUMINUM ' 606116 OR 6005-T5 ALUMINUM 4
0.050 ALUMINUM z
- 5.000 4 (4 Z-8LAE L 5000 — A i :
l L 6063~T6 ALUMINUM ' - ' | — &
LENGTH = 2 @ 124 4000 1449
LENGTH = ENTIRE 2.000 v 6 198 LENGTH = 2" @ 13A I
LENGTH = AS REQD WIDTH OF SHUTTER J oz 2.000 4" @ 138 =~
2.000 1.5 MIN. [
| KTHIS LEG AT WALLr 0125 — L 0250 | | o
ro.125 T ] 2381 | ol ©
. [+ 4
1 —200—m .. STORM BAR CONNECTION ANGLE ! 2] Ex
STORM BAR D" (1) BASE_ANGLE 5063-T5, ALUMINUM STORM_BAR CONNECTION ANGLE FEMALE_HINGE 8| Ex
Ty =05t AL - 1-T6 ALUMINUM I 3
6061-T6 OR 6005-T5 6063-T5 ALUMINUM 6063-T5 ALUMINUM 6061-T6 AL %x3o
ALUMINUM 0.750 —~| 3.000 0.049 BE_ 3
~—1.750 - |=—o0780 e 2.375 I=—1.000 { =201
\g ooz 7 f T 255 @
T | 187 [ 0-380 ~oe b 0380 ——f=—0.080 1.5 M, Y2" LEG AT WALL = %wo
’ ' Juj-~©
~ | < == —L ‘ - I ) . /’/:i'—— 1” 0.0. SERRATED TUBE TogS
- f NLssom ooed f 1716 o—" oos0- P 2000 == 2907 i 2 oF
(15) MALE_HINGE SUPPORT BRA SPORT BRACK OPTIONAL BASE ANGLE Z3/s" o voes  (20) OUTSIDE ARM E8 8o
6061-T6 ALUMINUM LLCKH @L___EU S e AL e ANGHORS 6063-T6 ALUMINUM w k5
6063-T6 ALUMINUM 6063-T6 ALUMINUM 6063-T5 ALUMINUM g v
0.049 Hl2s
o EE3
)
| MATERIAL LIST Oy 13[T
DESCRIPTION NOTES NO. DESCRIPTION NOTES . Sl u < ggé
SHUTTER FRAME 6063-T6 ALUMINUM 19 | L2XMINIMUM1.5X1/8 BASE ANGLE 5" LONG 6063-T5 ALUMINUM; 1 AT EA. VERTICAL SHUTTER MEMBER 7/8" 0.D. SERRATED TUBE X gn_ ;5% s
MULLION 6061-T6_ALUMINUM 20| OUTER PORTION OF SHUTTER ARM 6063-T6 ALUMINUM @ INSIDE ARM | 25 a2
FRAME_CAP 6063-T6_ALUMINUM 21| INNER PORTION OF SHUTTER ARM 6063-T6_ALUMINUM §063-T6 ALUMINUM 5| o2 uif
2-BLADE 6063-T6_ALUMINUM 22 |0.050" THICK ALUMINUM HURRICANE SHEET _|3003-H14 ALUM; MIN. SEAM OVERLAPS = 2" @ MULLIONS g | B35y
HOLLOW BLADE 6063-T6_ALUMINUM 23 _[1/4" STL BOLT OR THREADED ROD W/WING NUT |STORM BAR TO SHUTTER MULLIONS TN 2| Yopot
L2X2%0.093 FRAME CORNER KEY 6063-T5 ALUMINUM; PLACED AT FA. FRAME CORNER 24| 1/4” MOLLY JACK NUT OR 6061-T6 RWNUT __|FOR SETTING OF NO. 23 ABOVE INTO MULLIONS DRAWN T0 172 FULL s [,58 288
TS2X2X1/8_STORM BAR 6061-T6 OR 6005-T5 ALUMINUM 25 |1/4-20 S/STL BOLTS & 6061-T6 RNNUTS __|AT FRAME CORNERS & 12" MAX. 0.C. (SHEET T0 SHUTTER) SIZE UNLES NOTED A
TS3X2X1/8_STORM BAR 6061-T6 OR 6005-T5 ALUMINUM 26 | 3/16” 5052 ALUMINUM POP_RWVETS 1" FROM HINGE ENDS & 6" MAX. 0.C. (TOP HINGE TO SHUTTER) OTHERWISE. g |F3ET 8y
OPEN 27_[3/16" 5052 ALUMINUM POP_RWVETS 1" FROM_ANGLE ENDS & 6" MAX. 0.C. (BASE ANGLE TO SHUTTER) g ez @
TS5%2X1/8_STORM BAR 6061-T6 OR 6005-T5 ALUMINUM 28 |1/4-20 S/STL BOLTS & 6061-T6 RVNUTS 1" FROM ENDS & 12 MAX. O.C, (BASE ANGLE TO SHUTTER _
L2XMINIMUM1.5X1/8 CONT. BASE ANGLE 6063-T5 ALUMINUM; SECURES SHUTTERS CLOSED 29A [NO. 6 X 5/8" S/SIL PH. SMS SECURES Z-BLADE END TO FRAME CAP (2 PER BLADE END) N
L3X2X1/4 STORM BAR_END CONNECTOR 6063-T5 ALUMINUM; 2" LONG; USED WITH-OUT BUILD-OUT || 298 [NO. 8_X 5/8" S/SIL P.H. WS [ SECURES HOLLOW BLADE END TO FRAME CAP (2 PER BLADE END) APRROVED AS COMPLYING Wi Th |1 <
12B [L3X2X1/4 STORM BAR END CONNECTOR 6063-T5 ALUMINUM; 4" LONG; USED WITH-OUT BULD-OUT || 30 | NO. 8 X 3" S/STL FH. SMS 2 PER MULLION END THROUGH FRAME SOUTH FLORIDA BUILDING GODE g~ b3
13A [L4X2X1/4 STORM BAR END CONNECTOR 6063-T5 ALUMINUM; 2" LONG; USED WITH BUILD-OUT 31 [NO. 6 X 1 3/4" S/STL FH. SMS 2 PER FRAME CORNER INTO CORNER KEY 32 z
138 [ L4X2X1/4 STORM BAR END CONNECTOR 6063-T5 ALUMINUM; 4" LONG; USED WITH BUILD—OUT 32 _|NO. 6 X 5/8" S/STL FH. SNS 1 PER FRAME CORNER INTO FRAME SCREW BOSS =S =
[l 14 | FEMALE TOP HINGE 6061-T6 ALUMINUM; FULL WIDTH OF SHUTTER 33 | 1/4" X MIN. 3" STL. BOLT W/WING NUT 1_PER STORM BAR END THROUGH END ANGLES & BAR i = -
15 | MALE TOP HINGE 6061-T6 ALUMINUM; FULL WIOTH OF SHUTTER 34A | 1/4-20 RAWL CAULK—IN EMBED FULL ANCHOR BODY INTO BLOCK/CONCR. BULDING CO0E COMPLANGE 0rFicE = g
16 | SHUTTER ARM_SUPPORT BRACKET 6063-T6 ALUMINUM; ARM TO SHUTTER BRACKET 348 | 1/4-20 MALE_OR FEMALE PANEL WATE EMBED 1 1/2" INTO WOOD & MIN. 1 1/4" INTO BLOCK seoermce e Coae R $
17| SHUTTER ARM_SUPPORT BRACKET 6063-T6_ALUMINUM; ARM TO WALL BRACKET 35_|1/4” STL BOLT OR THREADED ROD W/ WINGNUT |ANCHORS STORM BAR ENDS TO WALL ANCHORS i -
18_| OPEN 36 | 1/4-20 STEEL BOLT ANCHORS STORM BAR END CLIPS TO WALL ANCHORS
1/4-20 S/STL BOLTS & 6061-T6 RNUTS |2 PER BASE CLIP INTO SHUTIER FRAME = e
QF
$




-
—GLL~19G XV  ZO6b—GZ.-19G :ANOHJ !
9/%9-£82(196) T SN S3010NS 006 5 |s
: | o ‘LVNLS vd 00 % =
Elsg LB6VS VAINOTS .H,_H.m L os v'd ‘ONILINSN S oSl
H B AVM Mavd NVE9 WvauLssnoJoniuaaNiong YALIVHIS M M 3=l
mw M.W .&moo mu._l_-—)__l_m é z:z_zﬂ._l.—( HIUNLIVINNYN %Oz W

. (3ava) SY3LINHS VAVHVE LOVdHAI e pATHIRED)

53 3 3ava

Mw 5" 31va Ad NOULAINIS3A NOISIAAY  [ON

o "l

v o
e m X
= L
[=p
=
, : :
= . -
. =
= m H —
§ =
< = |
> = : 9
<C = :
= "
- o) 2 ° g
& ~N 2 g =
2 - ok 5 : .
s & C s : 1
RFADU. | Lo M
Eo LY | | S . O
— 2| pr————— _
= ) { | T ———r ] aCa— _
: ) N o LJ
i ﬁ ! G L
{ | =~ Q
| T S Z
|
| e - _ml\lul.
= i el &» %
= | A
m _ fode = .
| o | —— | £ _
5 SN O | { RS — o =
% _. BRI | ) M) e W =___"T° A o =
2 R | | MRt o _
: T 5 I (@) " =
s . n_U.l. _ ! Lt
_ I [
fude = e
ﬁ | :
|
| | ! o
_ L)
nnnnnnnnnnnnnnnnnnnnnnn sl
Y = | _J :
D g Eag _ :
RFO | [» m
i &S o _ z
[ o_ — = =
= = T F|.U. & |
" ¢ £ = nw
) - = o A
g = Lo <
o e i
: 5 5 = O
= 2 z >
3 5 % T
= 2 2
z o ) T
n s .
M) 2 @
M) ~ ~ ) 2 M
- i 8 <o
. &
=

. w v
o QOO
. : @ 5 OO NN < (o 22
W | e EREEEINNENNEE
_ 2 T_” o Zloi~|~{w
: M > —
(s 0] U_L.l
) _ T35
N
- p } L=
T I g _ 3
= it ARz Blo|lam|o|n|o o
o o i 7 o % . 4062
R e . o M| <o o SHIEFIN
5 e ! Lt PO76554
2 ? | I | RS el
c ﬁu ! o
_ _ ol 5 e 0
_IO
|| E |[B2|le_ (D L
| _ B E L) t3 = 3 £ a _ 6
7] & P o ||~
s | W AWnS WIG. &WM%%_/_/_/_/
: | | w2 Sx|ZE |
: e | ] = Tz .
e = - O o
W IIIIIIIII R‘In lllllllllllllllll _l‘ A AF 6
I = _ LW
| L N L
N | )
| ! |
. | ]
|||||||||||| 5
|||||||| o T T —— MD
M = .._n_ . - -
- : ~ ) _
o, © - ]
HSg = Z | : _ 4
=z S Z & _ | :
L w) _U.ll_ g : 1
= = —
. 2 =R (7] (74 Bl
5 W m_.an , | |
5 < 2 2| el “
s - SO 1=
N > | | ".S_._H
1 | s
I
I <C| T
VAA 5 || oo &
. I i n”U | “. ANH
w o~
3 | A | N | S-S
j | | S— I oot | S ”_u._.r_w.V
o = _ _.r_R
lllll - Z ! = ! i (0t
lllllllllllllll 5 I = _ o
|||||||||| | | T =3
_— —O F
R p
| o | |
_ = | 3 _
I w |
Hes L
m ! DI\-S lllllllllllllllllllll
=) . .o |
o oo mmmgm e <C| = Z = i :
g HEE 2k B eI
- TR ! 5 Bug = = = 5
_| IIIIIII _” | ) WOW hu.w .T = m w
] | = 3 :
i | Sy 8 3 2 S g |
_ (G = = E _ E
| % E E = E
| 9] ﬁu E w %
| = = =
_ o wy Z A
IIIIIIIIIIIIIIII NG A V >
o > >




CHECKED BY:
W.W.S.

2. REF. SHEET 7 FOR CONNECTION TYPES. By ‘
PRODUCT CONTROL BIVISION

BUILDING CODE COMPLIANCE OFFICE
ACCEPTANCE N0, OO~ O4I1 - 1]

PRESSURE LOAD TABLE FOR STORM BARS & BAR END CONNECTIONS PRESSURE LOAD TABLE FOR STORM BARS & BAR END CONNECTIONS i
SHUTTER]  BAR ALLOWABLE PRESSURES (PSF) ALLOWABLE PRESSURE (PSF) SHUTTER|  BAR ALLOWABLE PRESSURES (PSF) ALLOWABLE_PRESSURE (PSF) "u
WIDTH | SPACING AS CONTROLLED BY BARS AS CONTROLLED BY CONNECTIONS WDTH |  SPACING AS CONTROLLED BY BARS AS CONTROLLED BY CONNECTIONS g
N N CONN A" CONN B" & C" N N CONN_"A” CONN B" & T
W " 1S2X2X1/8| TS3K2X1/8 | TS5%2X1 /8560 700NG. /BL0GK T WodD BLOCK,/CONC W ™ S3K2X1/8 | TSSX2X'1/8 | ™50D,/CONG, /BLOGK | Wo0D ~ [BLOCK/CONG 5 7’
" 1 80 80 80 80 80 80 2% 39 80 80 70 53
48 80 80 80 80 80 | 70 30 31 80 80 56 R z 7’
36 80 80 80 80 80 80 96 36 26 80 73 47 3 £
42 42 80 80 80 80 80 69 42 - 80 62 40 30 a
18 80 80 80 80 80 60 48 - 70 54 35 26 -
30 80 80 80 80 80 80 2 31 80 80 66 50 2
36 80 80 80 80 80 70 30 25 80 80 53 40 g
48 ) 80 80 80 80 80 60 102 36 - 75 68 a4 33 =
48 70 80 80 80 70 53 42 - 64 59 38 28 = :
30 80 80 80 80 80 75 48 . 56 51 33 - &
36 71 80 80 80 80 62 2 - 80 80 62 47 8
54 42 61 80 80 80 71 53 30 - 73 77 50 37 Wl s
18 54 80 80 80 62 47 108 36 - 61 64 4 31 S| Exs
24 75 80 80 80 80 80 42 - 52 55 36 27 1229
E0 60 80 80 80 80 67 48 - 46 48 31 - ned e
60 36 50 80 80 80 75 56 2 = 80 80 60 45 ga. 3
4 43 80 80 80 64 18 30 - 64 75 48 36 =z3 .
48 37 80 80 80 56 12 112 36 - 53 62 40 30 2&0
2 54 80 80 80 80 77 42 - 46 53 34 26 =S
30 33 80 80 80 80 61 18 - ) 7 30 - 26k 8
66 36 36 80 80 80 68 51 -5
Iy, 31 80 80 80 58 44 =530
8 | 27 73 80 79 51 38 v EE"
2% 20 80 80 80 80 70 LOAD TABLE INSTRUCTIONS: e ES
30 32 80 80 80 75 56 . SELECT AN OVERALL SHUTTER SIZE (TOTAL WIDTH & HEIGHT), E E3
7 > 27 l > 50 02 i 2. DETERMINE THE REQUIRED DESIGN WIND PRESSURE FOR THE SHUTTER (OBTAIN FROM A FLORIDA 5[ e =
- - 54 = - 2 - REGISTERED ENGINEER). s|& .3
5 5 = % = = = 3. IF THE SHUTTER HEIGHT IS LESS THAN OR EQUAL TO 76", GO TO "PRESSURE TABLE FOR SINGLE | gk
3 - & % % % = SPAN SHUTTERS” ON SHEET 9 AND COMPARE THE REQUIRED DESIGN PRESSURE TO THE ALLOWABLE g 2%es
78 N n 54 80 80 57 43 PRESSURES IN THE TABLE. IF ALLOWABLE PRESSURE IS EQUAL TO OR GREATER THAN THAT REQUIRED, 51 WS gk
42 - 46 80 77 49 37 NO BAR IS REQUIRED & YOU ARE FINISHED. IF ALLOWABLE PRESSURE IS LESS THAN REQUIRED, STORM = E,Eéﬁg’g
48 - 41 80 67 43 32 BAR(S) ARE NEEDED, SO CONTINUE TO NUMBER 4 BELOW. = E@g;%
% - 62 80 80 B0 60 4. IF BARS ARE REQUIRED, GO TO LOAD TABLES ON THIS SHEET. LR
30 - 50 80 B0 b4 4 9. GO TO APPLICABLE SHUTTER WIDTH IN TABLE AND CHOOSE THE DESIRED BAR SPACING. S
% > - -+ = & > ;f: 6. GO ACROSS THE TABLE AND CHOOSE THE BAR AND CONNECTION WHO'S ALLOWABLE PRESSURE g% oy
yr - 3 70 = T % IS GREATER THAN OR EQUAL TO THE REQUIRED PRESSURE. IF THE DESIRED BAR AND/OR e £
53 - 79 0 0 7 <5 CONNECTION TYPE DOES NOT MEET THE REQUIRED SHUTTER DESIGN PRESSURE, CHOOSE ANOTHER N
) - 39 80 80 80 75 BAR SPACING AND CHECK THE BAR TYPE & CONNECTION AGAIN.  REPEAT UNTIL DESIRED & CORRECT BAR o
90 5 - 3 80 77 50 37 & CONNECTION TYPE ARE DETERMINED (NOTE THAT THE LESSER PRESSURE OF THE BAR, CONNECTION TYPE, 2| \ 9
) = % & % X % OR MAXIMUM ALLOWABLE OF +/-80 PSF SHALL CONTROL THE SHUTTER). APROVED A5 CONPLYING WITH T 2E 2
48 - - 80 o8 A 28 SOUTH FLORIDA BUILDING CODE Ele Z
1. ALL PRESSURES ARE FOR BOTH POSITIVE & NEGATIVE AND ARE PSF. EQ 3408/ 200} HE \
) el
Lo
=






